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WEST BENGAL STATE UNIVERSITY

B.A./B.Sc. Honours 2nd Semester Examination, 2019

ECOACORO0M4T-EconoMICS (CC4)

STATISTICAL METHODS FOR EcoONOMICS-I
Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

1. Answer any five questions from the following;: 2x5=10

Fefie @-@ 5o eieia Tea wiss

(a) Define continuous variable.
HRifoe 5673 FIE 0 2

(b) If z=cx+dy, where c and d are constants. Then show that z =cx+dy
M z=cx+dy @AHc TR d &5, O RS A z=cx+dy

(c) Explain the measure of relative dispersion.
et fgion #ifasst et e

(d) Explain ‘leptokurtic’ frequency curve.
‘Leptokurtic’ ARFRLI @ IS T 2

2_ - I
© 1fYx=12,Yy=4, Yx*=162, 3 y* =196, 3 xy=52, n=10, find -
r_ = correlation coefficient.
xy

MW Yx=12, Yy=4, Tx*=162, > »*=1.96, Y xy=52, n=10 WX

Ty TAPO? rxyﬂm%vscm

(H Given r,=0.6, 6, =1.5, c,=2,% =10, y =20, calculate regression equation
ofxony
RO T 7, =0.6, 0, =1.5, 0,=2, T=10, §=20, y &9 T x &7 A& Gl
ez

(g) What is seasonal fluctuation?

T AR I I 9
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(h) Define crude death rate.
TS [y 2-a7 IR\ W |

Answer any four questions from the following; 5x4 =70

efifRe @-@it s1af e Teg we:

(a) Show that )'|x; - 4] is least if 4 = Median.
i=l

@6 @ i|x,. —A- IR BRI A = Y
i=1

(b) Show that standard deviation (SD) of first n odd numbers is equal to SD of first n R
even numbers.
(TS @ 2w sk Rrars Ry 1w RS eom o HAF @IS FGR T
Ry s,

(¢) For a certain distribution of weekly expenditure of 200 families, the mean, mode 5

and coefficient of variation were found to be Rs. 64, Rs. 60 and 40% respectively.
Find the measure of skewness of the distribution.

200 ~FRIER TeRE 20ee @@ Romme @R 15, RaMeEaH ¢ owE TN
TP 64 DI, 60 BIRA 93 40% | @i T3 “ifasiet el

(d) Find x, y and ry from the following regression equation

5
firs e R sfieaafe o 3, 5 9 ry, 93 T4 ey I
y=1L1x=0.7
x—0.687y=0.25
(e) Discuss the problems in the construction of index numbers. 5
o MY fAsfieerm cwva Rifer T Siems s
(f) Find the mean and median from the following data: 5
fatea ~feram frem @t 515 @ Wy 9= fidfy 3@
Class (=) 36-40 | 41-45 | 46-50 | 51-55 | 56-60 61-65 | 66-70
Frequency (#f&saq1) | 14 26 40 53 50 37 25
L e ————
3. Answer any fwo questions from the following: 10x2 = 20
frefeRe - 715 et Taw wes
(a) (i) Explain skewness of a frequency distribution 5

mawﬁﬁwmﬁ@mma%mmﬁrﬁwm|
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(i) In an examination nine students

and Economics.

obtained the following marks in Mathematics

@ 93 AT T & -2 s & SR ors R 79 AW

Roll No. | Marks in Economics | Marks in Mathematics
(T ) | (wdffore e ) | (offcs e )
1 45 51
2 60 50
3 32 38
4 46 54
5 31 53
6 30 B 37
7 58 62
8 6 ss
9 41| 39 |

Calculate Spearman'’s rank correlation co-cfficient.

PRI RS F2oifS @ faef 2
(b) (i) What do you mean by chain-base Index number?
WRJF F5=s FETS & AT 2
(i)
[ 2015 : 2017
Commodity () Price Quantity | Price Quantity J
(| o) | om) (o)
A 6 50 10 56
B 2 | w0 |2 120
c + 60 | 6 | 60
[ 10 30 | 12 24
E 8 40 12 36

Compute Fisher Ideal price index number and verify that it satisfies ‘Time

reversal Test’

Fisher-@? SiZfea@ @ 5% R fafy 3@ @2 e @ @fb Time Reversal’

2121 (A BT

2061
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(c) Obtain appropriate regression equation. Defend your choice. 8+2

Tore fsae et e 3t fAfistaa v e wie)

Age in years 9 (Ig) | 56 | 42 |72 | 36 | 63 | 47 55 | 40

Blood pressure (3@61?) | 147 | 125 | 160 | 118 | 149 | 128 | 150 | 145

(d) (i) What do you mean by a time series? 3
TIA AR IS B @R 9

(ii) Fit a second degree polynomial trend to the following data and calculate trend 5+2
value for 2016.

w5z “AfReRt e Rrege qeem AR ekeel Ry w1 @R 2016 FEE 27!
W fAfr sz

Year (I2X) 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018

Sale (in 1000tons) | 37 | 38 | 37 | 40 | 41 45 50
R (e o)

X.
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